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rate/cell by tray module ID, TraylDinLoop=0

2500

2000

1500

1000

500

[N AR BTSN BT AT SR

I

o

rat

e/cell by tray module ID, TraylDinLoop=3

2500

2000

1500

1000

500

OFT T T T | LI L | LI | L | L |I

| rate/cell by tray module ID, TraylDinLoop=1

2500

2000

1500

1000

500

o
om_l LI | L | LI | L | LI | T

rate/cell by tray module ID, TraylDinLoop=4

2500

2000

1500

1000

500

OfFT T T T | LI L | LI | L | L |I

| rate/cell by tray module ID, TraylDinLoop=2

2500

2000

1500

1000

500

OoOF T T T T




rate/cell by loop module ID

2500 —




difference between noise rate and mid-tray fit
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| nHits/ev, ToT range |
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vpd map
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